FRTEE

B L CIEH KB,
S i Ty B mE — COD#EE! |B(H#R) I TEE (TEBEX)
" St.1 |22 - 3B R I (KRN ) AR E R &R (/)
— &I E _
KR (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
58 BEh 18.2 19.0 19.0 13.2 — BE |meE mR
78 BEh 29.0 27.0 27.3 12.8 25 BE WEKZE mR
98 BEh 28.5 25.1 24.7 13.8 3.2 BE |meE wmR
118 BEh 16.5 215 215 13.1 5.5 BE meE mR
18 BEh 7.8 9.5 9.5 15.2 7.5 BE |meE mR
3Al &Y 74 8.0 8.7 13.4 45 BE iy ) mR
4FRRIFIER
oH DO COD |XBEHHE |h-~FH UM 2=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 5.0LLE | 30LLF — R H 0.6LLF | 0.05LLF
EE(75%1E) - 8.2 1.6(1.9) = <05 0.25 0.028
58 =E 8.1 7.6 15 - <05 0.16 0.018
IE 8.1 7.7 1.4 - - - -
78 == 8.2 7.1 2.0 - <0.5 0.18 0.024
th B 8.3 6.5 2.2 - - - -
oF == 8.3 7.8 1.9 - <0.5 - -
GIE 8.3 6.7 2.0 - - - -
118 == 8.1 8.2 1.2 - <0.5 0.38 0.032
hE 8.2 8.2 1.1 - - - -
1A == 8.3 9.0 1.4 - <0.5 0.29 0.036
IE 8.3 9.1 1.4 - - - -
3H == 8.2 10 1.6 - <0.5 - -
B 8.2 10 1.3 - - - -
BEIEE (REDHEHAD
I INESS S & ANE/RL|  #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
onni| migke [1,2-0900( 1,1-C4an [ zx-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY |BoaIFLy (= ok 3 ox4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
38 - - - - - - - -




Fh5400(1,3->4n0 = R FARY TN . WREEREY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.22
5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.14
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.29
3H - — — - - - - -
ZNDhIEE
Jz/—1 i SS 2EH |(yookns 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 3 0.005 - -
RE - - 3 - - -
5H ; E — — > — — —
5 - - 5 - - -
7R ; E — — 5 — — —
E - - 2 0.005 - -
9AH ; E — — 3 — — —
=] _ _ 3 _ _ _
= - - <1 - - -
1 ﬁ ;E _ _ -I - _ —
—_ —_ 3 —_ —_ —_
3 [=]
H hE - = 3 - - -
1Bt | EEEEM . .
(mg/1) (mg/1) (mg/1)
SEI9TE| 18000 0.02 0.02
58 E3E] 19000 - <0.01
B 19000 - -
78 AL 19000 <0.01 0.02
hE 20000 - -
9K AL 17000 - -
B 17000 - -
118 AL 19000 - 0.03
B 19000 - -
18 AL 19000 0.02 0.03
B 19000 - -
35 xE 14000 - -
g 18000 - -




FRITEE

B L CIE DK,
S i Ty 8 mE — COD#EE! |B(##BI=A) I TEE (TEBEX)
i St.2 |22 - Im B I (H ) KBRS EE ()
— kI E _
K& (°C)
Xz %R (°C) =E e 2KE 75 B FE T =X 2=
58 BEh 18.0 18.5 — 16.5 — BE |meE mR
78 BEh 29.0 27.3 — 17.7 5.0 BE |meE mR
98 BEh 28.5 25.2 — 17.1 4.0 BE meE mR
118 BEh 16.0 22.0 — 16.2 6.5 BE |meE mR
18 BEh 75 9.3 — 17.1 75 BE |meE mR
3Al =&Y 7.2 8.6 - 16.4 55 BE i) mR
4FRRIFIER
oH DO COD |XBEHH |h-~FH M 2L=TX EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥I & (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 5.0LLE | 30LLF — R H 0.6LLF | 0.05LLF
EE(75%1E) - 8.4 1.5(1.7) = <05 0.22 0.029
58 == 8.1 7.7 1.2 - <05 0.16 0.021
hE - - - - - - -
78 == 8.3 7.4 1.7 - <0.5 0.14 0.018
hE - - - - - - -
oF == 8.3 7.6 2.0 - <0.5 0.16 0.031
hE - - - - - - -
118 == 8.2 8.3 1.3 - <0.5 0.23 0.027
hE - - - - - - -
1A == 8.3 9.2 1.4 - <0.5 0.32 0.030
hE - - - - - - -
3H == 8.2 10 1.6 - <0.5 0.32 0.047
E - - - - - - -
BEIEE (REDHEHAD
IS INESS S &0 ANE/RL| #MFE fikéR |7o*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | 3FE#EH ERH |
S'Z - - - - - - - -
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
ynni| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
) o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
:F _ _ — — — — — —
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R - - - - - - - -




FF>o00(1,3->on - . o R N ;

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BBl 0.01LLF [0.00254F [ 0.006LLF [ 0.003LLF [ 0.025F [ 0.01LLF [ 0.01LLF [ 10LF
SF - — — — — — — —

sAl - - - - - - - -
Al - - - - - - - -
oA - - - - - - - -
115 - - - - - - - -
1A - - - - - - - -
38 - - - - - - - -
ZDHIFE
Jx/—)L Vo SS 2mR |soofns| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THE - - 3 - - -
RE - - 4 - - -
=] — — 3 — — —
=] — — 3 — — —
R e e T s B B
z - - 4 - - -
=] — — 1 — — _
=] _ _ 2 _ _ _
3A o - - 2 - - -
alch | BEEE | omene
(mg/1) (mg/1) (mg/1)

ESTE] 19000 - 0.02

55 RE 20000 - <0.01
= 19000 - 0.01
= 17000 - -
= 19000 - 0.02

"R Tam - - -

‘A =E 19000 - 0.03
= 19000 - -

3A o 0 - -



FRITEE

B L CIE DK,
S T4 EiEsE - COD#EH |A(E#ER) ML TEE (ZOMDRXIE)
i St.3 |23 - SRR T (B RRAKEREEE (2)
—iRIEE _
KR (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
58 BEh 18.2 18.0 18.0 20.0 — BE |meE mR
78 BEh 29.5 275 27.0 27.0 55 BE mae mR
9A BEh 28.2 26.0 25.8 275 4.7 BE mae mR
118 BEh 16.0 22.0 22.0 26.7 9.5 BE me mR
18 BEh 7.8 10.0 10.0 27.8 5.0 BE me mR
38| Bh 8.2 9.1 10.0 21.7 5.5 BE B BR
4FRRIFER
oH DO COD |XBEHE |h-~FHUH 2% EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= %(8| 7.8~83] 75LLE | 20LLF | 1000LLF | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) - 8.2 1.4(1.7) 0.0 <0.5 0.20 0.022
58 == 8.2 7.6 1.1 - <05 0.16 0.020
hE 8.1 7.4 1.1 - - - -
718 == 8.3 7.3 1.7 0.0 <0.5 0.15 0.017
GIE 8.3 7.1 2.0 - - - -
oF == 8.3 7.8 2.0 - <0.5 - -
IE 8.3 7.1 1.9 - - - -
115 == 8.2 8.3 1.2 - <0.5 0.21 0.024
hE 8.2 8.5 1.1 - - - -
1A == 8.3 8.8 1.0 0.0 <0.5 0.26 0.026
GIE 8.3 8.8 0.8 - - - -
3H == 8.2 10 1.0 - <0.5 - -
B 8.1 10 1.4 - - - -
BEIEE (REDHEHAD
I INESS & ANEvRL|  #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | 3FE#EH R |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
oani| migke [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
38 - - - - - - - -




FrS4Aa0a(1,3->4n = s —pats FARY TN . MREEERY
TI?"/‘J oAy 7’"77.1-\ AT @IV jJ}l/j Aoty LY iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 0.01LLTF | 0.00260F | 0.006LLTF | 0.003LLTF | 0.02LLF | 001LLTF | 001LLF | 10LLF
I <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.19
58 - - - - - - - -
78| <0.001 | <0.0002 [ <0.0006 <0.0003 <0.002 <0.001 <0.001 0.11
98 - - - - - - - -
118 - - - - - - - -
18] <0.001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.26
38 - - - - - - — —
ZNHIEE
Jx/—)L Vo SS 2mR |soofns| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EIE - - 3 <0.005 - -
RE - - 2 - - -
5A ; E — — > — — —
E - - 2 - - -
7H ;E _ _ 4 — _ —
= - — 1 <0.005 - -
9A ; E — — 3 = — —
B _ _ 3 _ _ _
1 1 H ;E _ _ 4 — — —
B _ _ 2 _ _ _
—_ —_ 4 —_ —_ —_
3 [=]
H hE - = 3 - - -
LY HEE . .
(mg/1) (mg/1) (mg/1)
SEHTE] 19000 0.02 0.02
55 =B 20000 - <0.01
th|E 19000 — -
78 =E 20000 <0.01 0.01
th[8 19000 — -
oF =B 17000 — -
th|8 17000 — -
18 =E 20000 — 0.02
th|8 19000 — -
18 =E 20000 0.03 0.03
th|E 19000 — -
38 =E 20000 - -
phE 20000 - -



ERR1TEE

B LTI HKE,
S 5 Ty 8 mE - COD#EE! |A(##BIA) ML TR (ZOMOXE)
i St.4 |- SR 1 GEBIR) REKEREEE (=)
—iRIEE _
K& (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
58 BEh 18.2 17.5 17.5 24.0 — BE |meE mR
78 BEh 28.5 26.5 26.0 26.3 6.5 BE mae mR
98 BEh 28.7 25.8 25.4 27.6 4.8 BE mae mR
118 BEh 16.0 22.0 22.0 28.1 9.0 BE |meE |
18 BEh 75 10.0 10.0 28.3 6.5 BE me mR
38| Bh 7.6 9.5 9.0 28.0 6.0 BE B BR
4FRRIFIER
oH DO COD |XBEHE |h-~FHUH 2% EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 FE | 20LLF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EE(75%1E) - 8.3 1.3(1.3) - <0.5 0.19 0.021
58 == 8.1 7.8 1.0 - <05 0.15 0.016
IE 8.2 7.8 1.2 - - - -
78 == 8.3 7.3 1.6 - <0.5 0.14 0.015
GIE 8.3 7.1 2.3 - - - -
oF == 8.3 7.8 2.0 - <0.5 - -
hE 8.3 7.0 1.1 - - - -
115 == 8.2 8.4 1.1 - <0.5 0.20 0.022
GIE 8.2 8.6 1.2 - - - -
1A == 8.3 8.8 1.1 - <0.5 0.27 0.029
GIE 8.3 8.8 1.2 - - - -
3H == 8.1 10 0.9 - <0.5 - -
B 8.1 10 1.3 - - - -
BEIEE (REDHEHAD
I INESS & ANEvRL|  #MFE kR |7L*LkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#fE] 001LLF | JE#H | 0018 F | 0.05LLF | 0.01LLF [0.0005LLF | FERH R |
:F _ _ — — — — — —
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
yani| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40A] 1,1,2-ry4a | BJo0A
R o 3 T4y IFLY |oazFLy| o4y OT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
:F _ _ — — — — — —
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R - - - - - - - -




Fh>49a0(1,3-4n = N N2 TR .
TI;-_ Ly I:I7I:I//\°> 7’"77.1-\ 87 a;Jj}-[:\j.J oty 2 4 P iﬁi&é&;@;*u
: (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
gq:g {E] 0.01LLF [0.002LLF [ 0.006LLF | 0.003LLF | 0.02LLF | 0.01LLF [ 0.01LLF [ 10LLF
i - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
ZTDHIEE
- RILL
/- 5 SS ZEHR |JOAKRLL| 5
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THE - = 3 = = =
RE - - 2 - - -
58 ; E — — > — — —
E - - 4 - - -
78 ; E — — 3 — — —
=] _ _ 2 _ _ _
98 ; E — — > — — —
E - - 4 - - -
=] _ _ 2 _ _ _
=] _ _ 2 _ _ _
3A i — — 3 — — —
alch | BEEE | omene
(mg/1) (mg/1) (mg/1)
EBTE|] 19000 - 0.02
58 == 19000 - <0.01
thE 19000 - -
78 =B 20000 - 0.01
GIE 19000 - -
oF == 17000 - -
GIE 17000 - -
18 =E 20000 - 0.02
hE 20000 - -
18 =E 20000 - 0.03
GIE 19000 - -
3H == 19000 - -
B 19000 - -



FRTEE

B L CIEHKE,
S TiEH B - COD¥# R |B(E¥R) MILTERE(FHERX)
" St5 EFR-SHEE I ER) RFEKEREEE(/Y)
—iRIEE _
KR (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
58 BEh 18.3 17.0 17.0 24.0 — BE |meE mR
78 BEh 28.5 26.0 26.0 26.7 55 BE mae mR
98 Bh 28.5 25.8 25.4 28.4 4.1 BE |meE mR
118 BEh 16.5 22.0 22.0 26.0 7.8 BE me mR
18 BEh 8.5 10.0 10.5 28.9 6.3 BE me mR
38| Eh 7.8 9.7 9.6 28.5 4.8 BE Be BR
4FRRIFIER
oH DO COD |XBEHH |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 50LLE | 30LLF — R H 0.6LLF | 0.05LLF
EE(75%1E) = 8.1 1.5(1.6) - <0.5 0.19 0.020
58 =E 8.1 7.3 1.0 - <05 0.16 0.015
IE 8.1 7.3 1.4 - - - -
78 == 8.3 7.4 1.6 - <0.5 0.13 0.015
th B 8.3 6.9 1.9 - - - -
oF == 8.3 6.6 2.8 - <0.5 - -
GIE 8.3 6.7 2.4 - - - -
118 == 8.2 8.3 1.1 - <0.5 0.20 0.022
GIE 8.2 8.4 0.9 - - - -
1A == 8.3 8.8 1.1 - <0.5 0.27 0.028
hE 8.3 8.9 1.1 - - - -
3H == 8.1 10 1.2 - <0.5 - -
B 8.2 10 1.3 - - - -
BEIEE (REDHEHAD
I INESS S & ANE/RL|  #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
oani| migke [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY |BoaIFLy (= ok 3 oxTsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
38 - - - - - - - -




Th34B0(1,3->4/n = SN FARY PR . WREERRU
TI?‘I/‘J I:I7I:I/\°> 7’"77.1-\ IV jJ)l/j oty LY iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.19
5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.10
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.27
3H - - - - - - - -
ZTNDIEE
RILL
Jx/—)L 7] SS £#fy |/AAKRILLA FILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 4 <0.005 - -
] - - 2 - - -
5H ; E — — 5 — — —
= - - 4 - - -
7H ;E _ _ 4 — — —
= - - 2 <0.005 - -
gﬁ ;E _ _ 4 — — —
= - - 5 - - -
= - - 2 - - -
1 ﬁ ;E _ _ 3 - _ —
—_ —_ 4 —_ —_ —_
3 [=]
Rt | EHEERY . .
(mg/1) (mg/1) (mg/1)
SEI9TE| 19000 0.02 0.02
58 E3E] 20000 - <0.01
B 20000 - -
78 AL 21000 <0.01 <0.01
th B 20000 - -
9K AL 17000 — —
B 17000 — —
1A AL 20000 - 0.02
B 20000 - -
18 AL 20000 0.03 0.03
B 20000 - -
35 xE 16000 — —
th 20000 - -



FRTEE

B L CIEHKE,
S 5 Ty B mE - COD#EE! | A(#HBIA) ML TEE(ZFOMMOXE)
) St.6 EFR-SHEE I ER) RFEKEREEE (V)
—RIEE _
KR (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
58 BEh 18.0 17.0 — 20.0 - BE |meE mR
78 BEh 29.0 26.8 — 19.0 6.0 BE |meE mR
98 BEh 28.0 25.8 — 18.1 4.5 BE |meE mR
118 BEh 16.5 225 — 19.0 9.5 BE |meE mR
18 BEh 8.4 10.0 — 22.0 5.8 BE me mR
38| Bh 7.8 9.7 - 20.0 5.5 BE Be BR
4FRRIFIER
oH DO COD |XBEHH |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 75LF | 20LLF | 1000LLF | JEEH 0.6LLF | 0.05LLF
EE(75%1E) = 8.1 1.3(1.4) - <0.5 0.20 0.018
58 == 8.1 7.2 1.1 - <05 0.16 0.015
hE - - - - - - -
78 == 8.3 6.7 1.4 - <0.5 0.18 0.012
= 8.3 7.6 1.7 - <0.5 - -
SR hE - - - - - - -
118 == 8.2 8.3 0.9 - <0.5 0.19 0.020
hE - - - - - - -
1A == 8.3 8.7 1.2 - <0.5 0.28 0.026
= 8.1 10 1.3 - <0.5 - -
3R g = = = — = - -
BEIEE (REDHAEHAD
NP INESS S ) ANfivoL| ME #ixksE [7rxrLkéR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ _ — — — — — —
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R = = = = = = = =
oani| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a o IRy IFLY | AaxTFLY (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
:'Z - - - - - - - -
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R = = = = = = = =




FrS50a[1,3->40 _ . e R N .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| ZEqE] 001LLF [0.00250F [ 0.006LLF | 0.003LLF [ 0.02LLF [ 001LLF [ 001LLF [ 10LLF
S'Z — — — — — — — —

5H - - - - - - - -
18 - - - - - - - -
9H - - - - - - - -
118 - - - - - - - —
18 - - - - - - - —
3H - - - = — — - -
ZTDHIEE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 3 - - -
RE - - 4 - - -
z - - 4 - - -
=] _ _ 2 _ _ _
L e — 3 - - :
=] _ _ 3 _ _ _
=] _ _ 1 _ _ _
z - - 4 - - -
3H o - - 4 - - -
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)

EBIE| 19000 - 0.02

5A RE 19000 - <0.01
= 19000 - <0.01
= 16000 - -
= 20000 — 0.02
A Tam [ - - -
15 =RE 20000 - 0.02
= 19000 - -
A g 0 - =



FRTEE

B L CIE DK,
S i Ty B mE — COD#EE! |B(H#H) ML TEEWERERX)
" St.7 EFR-SHEE I ER) RFEKEREEE(/Y)
—RIEE _
KR (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
58 BEh 18.0 17.0 — 9.2 - BE |meE mR
718 BEh 29.0 26.5 — 20.9 5.5 BE mae mR
98 BEh 28.0 25.5 — 21.7 45 BE |meE mR
118 BEh 16.0 22.0 — 23.0 9.3 BE me mR
18 BEh 8.0 9.9 — 23.4 6.3 BE me mR
38| Bh 7.6 9.7 — 14.1 6.0 BE Be BR
4FRRIFIER
oH DO COD |XBEHH |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 5.0LLE | 30LLF — R H 0.6LLF | 0.05LLF
EE(75%1E) - 8.2 1.5(1.5) - <0.5 0.19 0.018
58 =E 8.1 7.2 1.0 - <05 0.18 0.017
hE - - - - - - -
78 == 8.2 7.3 15 - <0.5 0.13 0.010
= 8.3 75 2.8 - <0.5 - -
SR hE - - - - - - -
118 == 8.2 8.3 1.1 - <0.5 0.19 0.020
hE - - - - - - -
1A == 8.3 8.8 1.2 - <0.5 0.27 0.024
= 8.2 10 1.2 - <0.5 - -
3A g - = = — = - -
BERIEE (REDHEHAD
NP INESS & ANE/RL|  #HFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 = = = = = = = =
ynni| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
Ay ot Iy IFLY |[AxFLy | ATAY OT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
38 = = = = = = = =




FhS00(1,3-40 — . sen FAARY o Loe R
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF | 0.006 LF [ 0.003LLF | 0.02L8LF | 0.01LLF 0.01LLF 10ELF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.18
5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.09
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.27
3H - — — — - - - -
ZTNDIEE
Ix/—) & SS 2EH |(yookns 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EBIE - - 3 0.006 - -
RE - - 2 - - -
=] _ _ 3 _ _ _
B - - 4 0.006 - -
P 2 : : -
=] _ _ 2 _ _ _
1A ; E — — — ~ _ _
=] _ _ 1 _ _ _
1A ; E — — ~ ~ _ _
= - - 4 - - -
A —HE - - A - - -
(4] BN . .
(mg/1) (mg/1) (mg/1)
EBTE|] 19000 0.02 0.02
58 E3E] 19000 - <0.01
/R - - -
78 =E 20000 <0.01 <0.01
= 16000 - -
= 20000 - 0.02
118 th — — =
18 AL 19000 0.03 0.02
= 19000 - -
3H B 0 - -



FRTEE

B L CIEHKE,
TRYBEES J] #5 lldDin
i gm | CODEE |AGEER) ﬁm |o>~‘n:|
St.8 EFR-SHEE I ER) feRKBERAR B (/\)
—RIEE _
K= (°C)
XiE_[SE(C) =E e 2KE 75 B FE iR =X 2=
58 BEh 18.1 17.5 — 2.8 — A -8 |meE |
78 BEh 29.1 28.0 — 6.6 5.0 A -1 |meE |
98 BEh 29.0 25.0 — 4.4 1.2 ANDAER | REFEE wmR
118 BEh 15.5 20.0 — 4.0 44.0 BE mae mR
18 BEh 7.1 9.0 — 4.0 4.0 BE mae mR
38| Bh 7.8 8.0 - 3.8 2.0 BE Be i
4FRRIFIER
oH DO COD |XBEHHE |h-~FH UM 2L=TX EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= %(8| 7.8~83| 75LLE | 20LLF | 100051 F | JEMRiH 0.6LLF | 0.05LLF
EE(75%1E) - 8.3 1.7(2.0) 1400 <0.5 0.40 0.022
58 == 8.0 75 1.0 - <05 0.46 0.014
hE - - - - - - -
78 == 8.1 6.1 1.9 2000 <0.5 0.33 0.024
= 8.3 7.6 1.3 - <0.5 - -
SR hE - - - - - - -
118 == 8.2 8.5 0.8 - <0.5 0.38 0.021
hE - - - - - - -
1A == 8.3 8.9 1.2 750 <0.5 0.42 0.027
= 8.0 11 1.3 - <0.5 - -
3R i = — = — — — —
BEIEE (REDHEHAD
IS INESS & ANE/RL|  #MFE fikER |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
onni| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
38 - - - - - - - -




Fh34900|1,3-4-0 — . aes FARY N R
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| ] 0.01LLF [0.0020F [ 0.006 L F [ 0.003LLTF | 0.02BLF [ 0.01BLF | 0.01LLF | 10LLF
I <0.001 [ <0.0002 ] <0.0006 <0.0003 <0.002 <0.001 <0.001 0.32
5H - - - - - - - -
7Bl <0.001 | <0.0002 [ <0.0006 <0.0003 <0.002 <0.001 <0.001 0.21
9H - - - - - - - -
118 — — - - - — - -
18] <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.42
3H — - - - - - — —
ZTNDIEE
I1/—) i SS LEH |rORkILL 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FIE - - 4 0.005 - -
=E - - 4 - - -
=] _ _ 5 _ _ _
78 ; E — — = — — —
= - - 8 0.005 — -
9H ; E — — = = — —
=] _ _ 3 _ _ _
1A ; E — — = - - —
=] _ _ 2 _ _ _
=] _ _ 7 _ _ _
3AH i — — — — —
Bt | EEERYE . .
(mg/1) (mg/1) (mg/1)
EHE] 11000 0.02 0.02
55 =B 4200 - 0.01
hE
718 == 14000 <0.01 0.02
=5
= 11000 — —
9A ; E
= 14000 — 0.02
1A e
18 == 16000 0.02 0.02
= 5000 — -
3AH i



